*---A macro to cross multiply (sum products) of two ranges

*---Use the /Range Name Label Right {End} {Down} <ENTER> to define the
range names in this column (starts with the \Z macro name)

*---Place the cell pointer where you want the multiplication result

*---Hold the <ALT> key and press <Z> to activate the macro
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The sizes of the two columns are not equal! Press any key to try again

{LET cols006,@COLS(First range ?)}~{LET rows006,@ROWS(Firs
{FOR counter1006,0,-1,1,l00p1006}
{FOR counter2006,0,13,1,lo0p2006}
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